# F A S C I C U L I M A T H E M A T I C I 

Nr 45

Elsayed M. Elsayed

## ON THE SOLUTIONS OF A RATIONAL SYSTEM OF DIFFERENCE EQUATIONS

Abstract. In this paper we deal with the solutions of the system of the difference equations

$$
x_{n+1}=\frac{1}{y_{n-k}}, \quad y_{n+1}=\frac{y_{n-k}}{x_{n} y_{n}},
$$

with a nonzero real numbers initial conditions.
KEY words: difference equations, boundedness, periodic solutions.
AMS Mathematics Subject Classification: 39A10.

## 1. Introduction

In this paper we deal with the solutions of the system of the difference equations

$$
\begin{equation*}
x_{n+1}=\frac{1}{y_{n-k}}, \quad y_{n+1}=\frac{y_{n-k}}{x_{n} y_{n}} \tag{1}
\end{equation*}
$$

with a nonzero real numbers initial conditions.
Difference equations appear naturally as discrete analogues and as numerical solutions of differential and delay differential equations having applications in biology, ecology, economy, physics, and so on. So, recently there has been an increasing interest in the study of qualitative analysis of rational difference equations and systems of difference equations. Although difference equations are very simple in form, it is extremely difficult to understand thoroughly the behaviors of their solutions. See [1]-[29] and the references cited therein.

Cinar [1] has obtained the positive solution of the difference equation system

$$
x_{n+1}=\frac{1}{y_{n}}, \quad y_{n+1}=\frac{y_{n}}{x_{n-1} y_{n-1}}
$$

Also, Cinar et al. [4] has obtained the positive solution of the difference equation system

$$
x_{n+1}=\frac{m}{y_{n}}, \quad y_{n+1}=\frac{p y_{n}}{x_{n-1} y_{n-1}}
$$

Elabbasy et al. [6] has obtained the solution of particular cases of the following general system of difference equations

$$
\begin{aligned}
x_{n+1}= & \frac{a_{1}+a_{2} y_{n}}{a_{3} z_{n}+a_{4} x_{n-1} z_{n}}, \quad y_{n+1}=\frac{b_{1} z_{n-1}+b_{2} z_{n}}{b_{3} x_{n} y_{n}+b_{4} x_{n} y_{n-1}} \\
& z_{n+1}=\frac{c_{1} z_{n-1}+c_{2} z_{n}}{c_{3} x_{n-1} y_{n-1}+c_{4} x_{n-1} y_{n}+c_{5} x_{n} y_{n}}
\end{aligned}
$$

Özban [9] has investigated the solutions of the following system

$$
x_{n+1}=\frac{a}{y_{n-3}}, \quad y_{n+1}=\frac{b y_{n-3}}{x_{n-q} y_{n-q}}
$$

Other related work see [1]-[14].
Definition 1 (Periodicity). A sequence $\left\{x_{n}\right\}_{n=-k}^{\infty}$ is said to be periodic with period $p$ if $x_{n+p}=x_{n}$ for all $n \geq-k$.

## 2. Main results

2.1. When $k$-even. In this section we deal with the solutions of the system of the difference equations

$$
\begin{equation*}
x_{n+1}=\frac{1}{y_{n-2 r}}, \quad y_{n+1}=\frac{y_{n-2 r}}{x_{n} y_{n}} \tag{2}
\end{equation*}
$$

with a nonzero real numbers initial conditions
Theorem 1. Suppose that $\left\{x_{n}, y_{n}\right\}$ are solutions of system (2). Also, assume that $x_{0}, y_{-2 r}, y_{-2 r+1}, \ldots, y_{0}$ are arbitrary nonzero real numbers. Then all solutions of equation system (2) are periodic with period $(4 r+2)$.

Proof. From Eq.(2), we see that

$$
\begin{aligned}
x_{n+1}=\frac{1}{y_{n-2 r}}, & y_{n+1}=\frac{y_{n-2 r}}{x_{n} y_{n}}, \\
x_{n+2}=\frac{1}{y_{n-2 r+1}}, & y_{n+2}=\frac{y_{n-2 r+1}}{x_{n+1} y_{n+1}}=x_{n} y_{n} y_{n-2 r+1}, \\
x_{n+3}=\frac{1}{y_{n-2 r+2}}, & y_{n+3}=\frac{y_{n-2 r+2}}{x_{n+2} y_{n+2}}=\frac{y_{n-2 r+2}}{x_{n} y_{n}}, \\
x_{n+4}=\frac{1}{y_{n-2 r+3}}, & y_{n+1}=\frac{y_{n-2 r+3}}{x_{n+3} y_{n+3}}=x_{n} y_{n} y_{n-2 r+3},
\end{aligned}
$$

$$
\begin{aligned}
& x_{n+2 r-1}=\frac{1}{y_{n-2}}, \quad y_{n+2 r-1}=\frac{y_{n-2}}{x_{n+2 r-2} y_{n+2 r-2}}=\frac{y_{n-2}}{x_{n} y_{n}}, \\
& x_{n+2 r}=\frac{1}{y_{n-1}}, \quad y_{n+2 r}=\frac{y_{n-1}}{x_{n+2 r-1} y_{n+2 r-1}}=x_{n} y_{n} y_{n-1}, \\
& x_{n+2 r+1}=\frac{1}{y_{n}}, \quad y_{n+2 r+1}=\frac{y_{n}}{x_{n+2 r} y_{n+2 r}}=\frac{y_{n}}{x_{n} y_{n}}=\frac{1}{x_{n}}, \\
& x_{n+2 r+2}=\frac{1}{y_{n+1}}=\frac{x_{n} y_{n}}{y_{n-2 r}}, \\
& y_{n+2 r+2}=\frac{y_{n+1}}{x_{n+2 r+1} y_{n+2 r+1}}=\frac{y_{n-2 r}}{x_{n} y_{n} \frac{1}{y_{n}} \frac{1}{x_{n}}=y_{n-2 r},} \\
& x_{n+2 r+3}=\frac{1}{y_{n+2}}=\frac{1}{x_{n} y_{n} y_{n-2 r+1}}, \\
& y_{n+2 r+3}=\frac{y_{n+2}}{x_{n+2 r+2} y_{n+2 r+2}}=\frac{x_{n} y_{n} y_{n-2 r+1}^{x_{n} y_{n}} y_{n-2 r}}{y_{n-2 r}}=y_{n-2 r+1}, \\
& x_{n+4 r}=\frac{1}{y_{n+2 r-1}}=\frac{x_{n} y_{n}}{y_{n-2}}, \\
& y_{n+4 r}=\frac{y_{n+2 r-1}}{x_{n+4 r-1} y_{n+4 r-1}}=\frac{y_{n-2}}{x_{n} y_{n} \frac{1}{x_{n} y_{n}}}=y_{n-2}, \\
& x_{n+4 r+1}=\frac{1}{y_{n+2 r}}=\frac{1}{x_{n} y_{n} y_{n-1}}, \\
& y_{n+4 r+1}=\frac{y_{n+2 r}}{x_{n+4 r} y_{n+4 r}}=\frac{x_{n} y_{n} y_{n-1}}{x_{n} y_{n}} y_{n-2}=y_{n-1}, \\
& x_{n+4 r+2}=\frac{1}{y_{n+2 r+1}}=x_{n}, \\
& y_{n+4 r+2}=\frac{y_{n+2 r+1}}{x_{n+4 r+1} y_{n+4 r+1}}=\frac{x_{n} \frac{1}{x_{n} y_{n} y_{n-1}} y_{n-1}}{x_{n}}=y_{n} .
\end{aligned}
$$

Hence, the proof is completed.
Proposition 1. It is easy to see that the system

$$
x_{n+1}=\frac{1}{y_{n-2 r}}, \quad y_{n+1}=\frac{y_{n-2 r}}{x_{n-p} y_{n-p}}
$$

is periodic with period $(2 p+2)(2 r+1)$ when $2 p \neq r$, and periodic with period $(4 r+2)$ when $2 p=r$.
2.2. When $k$-odd. In this section we deal with the solutions of the system of the difference equations

$$
\begin{equation*}
x_{n+1}=\frac{1}{y_{n-2 r-1}}, \quad y_{n+1}=\frac{y_{n-2 r-1}}{x_{n} y_{n}} \tag{3}
\end{equation*}
$$

with a nonzero real numbers initial conditions.
Theorem 2. Suppose that $\left\{x_{n}, y_{n}\right\}$ are solutions of system (3). Also, assume that $x_{0}, y_{-2 r-1}, y_{-2 r}, \ldots, y_{0}$, are arbitrary nonzero real numbers and $A=x_{0} y_{0}$. Then
(i) If $A=1$, the solutions of equation system (3) are periodic with period $(2 r+2)$.
(ii) If $A \neq 1$, the solutions are unbounded and given by

$$
x_{(2 r+2) n+s}=\left\{\begin{array}{ll}
\frac{A^{n}}{y_{-2 r-2+s}^{1}}, & s-o d d, \\
\frac{1}{A^{n} y_{-2 r-2+s}}, & s-\text { even },
\end{array} \quad s=1,2, \ldots,(2 r+2)\right.
$$

and

$$
y_{(2 r+2) n+s}=\left\{\begin{array}{rl}
\frac{y_{s}}{A^{n}}, & s-\text { odd }, \\
A^{n} y_{s}, & s-\text { even },
\end{array} \quad s=-2 r-1,-2 r,-2 r+1, \ldots, 2,1,0,\right.
$$

where $n=0,1,2, \ldots$.
Proof. (i) If $A=1$, from Eq.(3), we see that

$$
\begin{array}{cc}
x_{1}=\frac{1}{y_{-2 r-1}}, & y_{1}=\frac{y_{-2 r-1}}{x_{0} y_{0}}=y_{-2 r-1}, \\
x_{2}=\frac{1}{y_{-2 r}}, & y_{2}=\frac{y_{-2 r}}{x_{1} y_{1}}=y_{-2 r}, \\
x_{3}=\frac{1}{y_{-2 r+1}}, & y_{3}=\frac{y_{-2 r+1}}{x_{2} y_{2}}=y_{-2 r+1}, \\
\vdots & y_{2 r+1}=\frac{y_{-1}}{x_{2 r} y_{2 r}}=y_{-1}, \\
x_{2 r+1}=\frac{1}{y_{-1}}, & y_{2 r+2}=\frac{y_{0}}{x_{2 r+1} y_{2 r+1}}=y_{0}, \\
x_{2 r+2}=\frac{1}{y_{0}}, \\
x_{2 r+3}=\frac{1}{y_{1}}=\frac{1}{y_{-2 r-1}}=x_{1}, & y_{2 r+3}=\frac{y_{1}}{x_{2 r+2} y_{2 r+2}}=y_{1} .
\end{array}
$$

(ii) If $A \neq 1$. For $n=0$ the result holds. Now suppose that $n>0$ and that our assumption holds for $n-1$. That is;

$$
\begin{gathered}
x_{(2 r+2) n-2 r-1}=\frac{A^{n-1}}{y_{-2 r-1}}, \quad x_{(2 r+2) n-2 r}=\frac{1}{A^{n-1} y_{-2 r}}, \\
x_{(2 r+2) n-2 r+1}=\frac{A^{n-1}}{y_{-2 r+1}}, \\
\vdots \\
x_{(2 r+2) n-2}=\frac{1}{A^{n-1} y-2}, \quad x_{(2 r+2) n-1}=\frac{A^{n-1}}{y_{-1}}, \\
x_{(2 r+2) n}=\frac{1}{A^{n-1} y_{0}},
\end{gathered}
$$

and

$$
\begin{gathered}
y_{(2 r+2) n-4 r-3}=\frac{y_{-2 r-1}}{A^{n-1}}, \quad y_{(2 r+2) n-4 r-2}=A^{n-1} y_{-2 r}, \\
y_{(2 r+2) n-4 r-1}=\frac{y_{-2 r+1}}{A^{n-1}}, \\
\vdots \\
y_{(2 r+2) n-2 r-4}= \\
A^{n-1} y_{-2}, \quad y_{(2 r+2) n-2 r-3}=\frac{y_{-1}}{A^{n-1}}, \\
y_{(2 r+2) n-2 r-2}=A^{n-1} y_{0},
\end{gathered}
$$

it follows from Eq.(3) that

$$
\begin{aligned}
y_{(2 r+2) n-2 r-1} & =\frac{y_{(2 r+2) n-4 r-3}}{x_{(2 r+2) n-2 r-2} y_{(2 r+2) n-2 r-2}}=\frac{y_{-2 r-1}}{A^{n-1} \frac{1}{A^{n-2} y_{0}} A^{n-1} y_{0}} \\
& =\frac{y_{-2 r-1}}{A^{n}}, \\
x_{(2 r+2) n+1} & =\frac{1}{y_{(2 r+2) n-2 r-1}}=\frac{A^{n}}{y_{-2 r-1}}, \\
y_{(2 r+2) n-2 r}= & \frac{y_{(2 r+2) n-4 r-2}}{x_{(2 r+2) n-2 r-1} y_{(2 r+2) n-2 r-1}}=\frac{A^{n-1} y_{-2 r}}{\frac{A^{n-1}}{y_{-2 r-1}} \frac{y_{-2 r-1}}{A^{n}}}=A^{n} y_{-2 r}, \\
x_{(2 r+2) n+2}= & \frac{1}{y_{(2 r+2) n-2 r}}=\frac{1}{A^{n} y_{-2 r}},
\end{aligned}
$$

$$
\begin{aligned}
& y_{(2 r+2) n-2 r+1}=\frac{y_{(2 r+2) n-4 r-1}}{x_{(2 r+2) n-2 r} y_{(2 r+2) n-2 r}}=\frac{y_{-2 r+1}}{A^{n-1} \frac{1}{A^{n-1} y_{-2 r}} A^{n} y_{-2 r}} \\
&=\frac{y_{-2 r+1}}{A^{n}}, \\
& x_{(2 r+2) n+3}=\frac{1}{y_{(2 r+2) n-2 r+1}}=\frac{A^{n}}{y_{-2 r+1}}, \\
& \vdots \\
& x_{(2 r+2) n+2 r}=\frac{1}{y_{(2 r+2) n-2}}=\frac{1}{A^{n} y_{-2}}, \\
& y_{(2 r+2) n-2}=\frac{y_{(2 r+2) n-2 r-4}^{x_{(2 r+2) n-3} y_{(2 r+2) n-3}}=\frac{A^{n-1} y_{-2}}{A^{n-1} y_{-3}}=A^{n} y_{-2},}{y_{-3}} \frac{A^{n}}{x_{(2 r e n}}, \\
& x_{(2 r+2) n+2 r+1}=\frac{1}{y_{(2 r+2) n-1}}=\frac{y^{n}}{y_{-1}}, \\
& y_{(2 r+2) n-1}=\frac{y_{(2 r+2) n-2 r-3}}{x_{(2 r+2) n-2} y_{(2 r+2) n-2}}=\frac{A^{n-1} \frac{1}{A^{n-1} y_{-2}} A^{n} y_{-2}}{A^{n}}=\frac{y_{-1}}{A^{n}}, \\
& x_{(2 r+2) n+2 r+2}=\frac{1}{y_{(2 r+2) n}}=\frac{1}{A^{n} y_{0}}, \\
& y_{(2 r+2) n}=\frac{y_{(2 r+2) n-2 r-2}}{x_{(2 r+2) n-1} y_{(2 r+2) n-1}}=\frac{A^{n-1} y_{0}}{A^{n-1} y_{-1}}=A^{n} y_{0} . \\
& y_{-1} A^{n}
\end{aligned}
$$

Hence, the proof is completed.

Proposition 2. It is easy to see that for the following system

$$
x_{n+1}=\frac{1}{y_{n-2 r-1}}, \quad y_{n+1}=\frac{y_{n-2 r-1}}{x_{n-1} y_{n-1}} .
$$

(i) If $A=B=1$, the solutions are periodic with period $(2 r+2)$.
(ii) If $A$ or $B \neq 1$, the solutions are unbounded and given by

$$
x_{(2 r+2) n+s}=\left\{\begin{array}{cl}
\frac{B^{n \sin \left(\frac{s \pi}{2}\right)}}{y_{-2 r-2+s}}, & s-o d d, \\
\frac{A^{n \cos \left(\frac{(s+2) \pi}{2}\right)}}{y_{-2 r-2+s}}, & s-\text { even },
\end{array} \quad s=1,2, \ldots,(2 r+2)\right.
$$

and
$y_{(2 r+2) n+s}=\left\{\begin{array}{ll}\frac{y_{s}}{B^{n \sin \left(\frac{s \pi}{2}\right)},} & s-\text { odd }, \\ \frac{y_{s}^{n \cos \left(\frac{(s+2) \pi}{2}\right)},}{}, & s-\text { even },\end{array} \quad s=-2 r-1,-2 r,-2 r+1, \ldots, 2,1,0\right.$,
where $n=0,1,2, \ldots$ and $A=x_{0} y_{0}, B=x_{-1} y_{-1}$.

## 3. Numerical examples

In order to illustrate the results of the previous sections and to support our theoretical discussions, we consider several interesting numerical examples in this section. These examples represent different types of qualitative behavior of solutions to nonlinear difference equations.

Example 1. Consider the following difference system equation:

$$
x_{n+1}=\frac{1}{y_{n-2}}, \quad y_{n+1}=\frac{y_{n-2}}{x_{n} y_{n}}
$$

with the initial conditions $y_{-2}=0.8, y_{-1}=4.2, y_{0}=9, x_{0}=0.7$. This solution is a period six solution and will be $\left\{x_{n}\right\}=\{0.7,1.25,0.238,0.111,7.875$, $0.037,0.7,1.25, \ldots\},\left\{y_{n}\right\}=\{0.8,4.2,9,0.127,26.46,1.428,0.8,4.2, \ldots\}$. (See Fig. 1).


Figure 1.

Example 2. Consider the following difference system equation:

$$
x_{n+1}=\frac{1}{y_{n-2}}, \quad y_{n+1}=\frac{y_{n-2}}{x_{n-1} y_{n-1}}
$$

with the initial conditions $y_{-2}=8, y_{-1}=0.19, y_{0}=5, x_{-1}=3, x_{0}=6$. Also, this solution is periodic with period twelve and takes the form $\left\{x_{n}\right\}=$
$\{3,6,0.125,5.26,0.2,0.07,157.9,0.35,0.0023,90,10.5,4.16 E-3,3,6, \ldots\},\left\{y_{n}\right\}$ $=\{8,0.19,5,14,6.33 E-3,2.85,421,1.11 E-2,9.5 E-02,240,0.33,0.16,8$, $0.19,5, \ldots\}$. (See Fig. 2).


Figure 2.

Example 3. Consider the difference system equation

$$
x_{n+1}=\frac{1}{y_{n-4}}, \quad y_{n+1}=\frac{y_{n-4}}{x_{n-1} y_{n-1}}
$$

with the initial conditions $y_{-4}=2.7, y_{-3}=0.3, y_{-2}=0.5, y_{-1}=6, y_{0}=5$, $x_{-1}=0.8, x_{0}=0.2$. The solution is periodic with period ten. (See Fig. 3).


Figure 3.

Example 4. Consider the following difference system equation:

$$
x_{n+1}=\frac{1}{y_{n-3}}, \quad y_{n+1}=\frac{y_{n-3}}{x_{n} y_{n}}
$$

with the initial conditions $y_{-3}=0.6, y_{-2}=0.7, y_{-1}=4.3, y_{0}=2.5$, $x_{0}=0.4$. We see that this solution is periodic with period four. (See Fig. 4).


Figure 4.

Example 5. Consider the following difference system equation:

$$
x_{n+1}=\frac{1}{y_{n-3}}, \quad y_{n+1}=\frac{y_{n-3}}{x_{n} y_{n}}
$$

with the initial conditions $y_{-3}=7, y_{-2}=1.1, y_{-1}=0.2, y_{0}=4, x_{0}=0.4$. Unbounded solution in this case. (See Fig. 5).


Figure 5.

Example 6. Consider the following difference system equation:

$$
x_{n+1}=\frac{1}{y_{n-3}}, \quad y_{n+1}=\frac{y_{n-3}}{x_{n-1} y_{n-1}}
$$

with the initial conditions $y_{-3}=7, y_{-2}=1.1, y_{-1}=0.2, y_{0}=4, x_{-1}=8$, $x_{0}=0.4$. Also, this is unbounded solution. (See Fig. 6).


Figure 6.

Example 7. Consider the following difference system equation:

$$
x_{n+1}=\frac{1}{y_{n-3}}, \quad y_{n+1}=\frac{y_{n-3}}{x_{n-1} y_{n-1}}
$$

with the initial conditions $y_{-3}=7, y_{-2}=1.1, y_{-1}=0.2, y_{0}=4, x_{-1}=$ $5, x_{0}=0.25$. This solution is periodic with period four. (See Fig. 7).


Figure 7.

## References

[1] Aloqeili M., Dynamics of a rational difference equation, Appl. Math. Comp., 176(2)(2006), 768-774.
[2] Atasever N., Yalçinkaya I., On a class of difference equations, Fasciculi Mathematici, 43 (2010), (in press).
[3] Cinar C., On the positive solutions of the difference equation system $x_{n+1}=$ $\frac{1}{y_{n}}, y_{n+1}=\frac{y_{n}}{x_{n-1} y_{n-1}}$, Appl. Math. Comp., 158(2004), 303-305.
[4] Cinar C., Yalçinkaya I., On the positive solutions of the difference equation system $x_{n+1}=\frac{1}{z_{n}}, y_{n+1}=\frac{x_{n}}{x_{n-1}}, z_{n+1}=\frac{1}{x_{n-1}}$, International Mathematical Journal, 5(2004), 525-527.
[5] Cinar C., Yalçinkaya I., On the positive solutions of the difference equation system $x_{n+1}=\frac{1}{z_{n}}, y_{n+1}=\frac{y_{n}}{x_{n-1} y_{n-1}}, z_{n+1}=\frac{1}{x_{n-1}}$, J. Inst. Math. Comp. Sci., 18(2005), 91-93.
[6] Cinar C., Yalçinkaya I., Karatas R., On the positive solutions of the difference equation system $x_{n+1}=\frac{m}{y_{n}}, \quad y_{n+1}=\frac{p y_{n}}{x_{n-1} y_{n-1}}$, J. Inst. Math. Comp. Sci., 18(2005), 135-136.
[7] Cinar C., Yalçinkaya I., On the positive solutions of difference equation system $x_{n+1}=\frac{1}{z_{n}}, y_{n+1}=\frac{1}{x_{n-1} y_{n-1}}, z_{n+1}=\frac{1}{x_{n-1}}$, International Mathematical Journal, 5(5)(2004), 517-519.
[8] Elabbasy E.M., El-Metwally H. Elsayed E.M., On the solutions of a class of difference equations systems, Demonstratio Mathematica, 41(1)(2008), 109-122.
[9] Elabbasy E.M., Elsayed E.M., On the Solution of Recursive Sequence $x_{n+1}=\max \left\{x_{n-2}, \frac{1}{x_{n-2}}\right\}$, Fasc. Math., 41(2009), 55-63.
[10] Elsayed E.M., On the solution of recursive sequence of order two, Fasc. Math., 40(2008), 5-13.
[11] Elsayed E.M., Dynamics of a Recursive Sequence of Higher Order, Communications on Applied Nonlinear Analysis, 16(2)(2009), 37-50.
[12] Elsayed E.M., On the Solutions of Higher Order Rational System of Recursive Sequences, Mathematica Balkanica, 21(3-4)(2008), 287-296.
[13] Elsayed E.M., On the Difference Equation $x_{n+1}=\frac{x_{n-5}}{-1+x_{n-2} x_{n-5}}$, Int. J. Contemp. Math. Scie., 3(33)(2008), 1657-1664.
[14] Gelişken A., Cinar C., Yalcinkaya I., On the periodicity of a difference equation with maximum, Discrete Dyn. Nat. Soc., Volume 2008, Article ID 820629, (2008), 11 pages.
[15] Gelişken A., Cinar C., Yalcinkaya I., On the periodicity of a difference equation with maximum, Discrete Dynamics in Nature and Society, 2008, Article ID 820629.
[16] Hamza A.E., Morsy A., On the recursive sequence $x_{n+1}=\alpha+\frac{x_{n-1}}{x_{n}^{k}}$, Applied Mathematics Letters, 22(2009), 91-95.
[17] Hamza A.E., Barbary S.G., Attractivity of the recursive sequence $x_{n+1}=\left(\alpha-\beta x_{n}\right) F\left(x_{n-1}, \ldots, x_{n-k}\right)$, Mathematical and Computer Modelling, 48(11-12)(2008), 1744-1749.
[18] Ozban A.Y., On the system of rational difference equations $x_{n+1}=$ $a / y_{n-3}, \quad y_{n+1}=b y_{n-3} / x_{n-q} y_{n-q}$, Appl. Math. Comp., 88(2007), 833-837.
[19] Saleh M., Aloqeili M., On the difference equation $x_{n+1}=A+\frac{x_{n}}{x_{n-k}}$, Appl. Math. Comp., 171(2005), 862-869.
[20] Saleh M., Abu-Baha S., Dynamics of a higher order rational difference equation, Appl. Math. Comp., 181(2006), 84-102.
[21] Simsek D., Cinar C., Yalcinkaya I., On the recursive sequence $x_{n+1}=$ $\frac{x_{n-3}}{1+x_{n-1}}$, Int. J. Contemp. Math. Sci., 1(10)(2006), 475-480.
[22] Simsek D., Cinar C., Karatas R., Yalcinkaya I., On the recursive sequence $x_{n+1}=\frac{x_{n-5}}{1+x_{n-1} x_{n-3}}$, Int. J. of Pure and Appl. Math., 28(2006), 117-124.
[23] Yalçinkaya I., Cinar C., On the dynamics of the difference equation $x_{n+1}=\frac{a x_{n-k}}{b+c x_{n}^{p}}$, Fasc. Math., 42 (2009), 141-148.
[24] Yalçinkaya I., Atasever N., Cinar C., On the difference equation $x_{n+1}=$ $\alpha+\frac{x_{n-3}}{x_{n}^{k}}$, Demonstratio Mathematica, (in press).
[25] Yalçinkaya I, Cinar C., Global asymptotic stability of a system of two nonlinear difference equations, Fasc. Math., 43(2010), 172-180.
[26] Yalçinkaya I., Cinar C., Atalay M., On the solutions of systems of difference equations, Advances in Difference Equations, Vol. 2008, Article ID 143943, 9 pages, doi: 10.1155/2008/143943.
[27] Yalçinkaya I., On the global asymptotic stability of a second-order system of difference equations, Discrete Dynamics in Nature and Society, Vol. 2008, Article ID 860152, 12 pages, doi: 10.1155/2008/ 860152.
[28] Yalçinkaya I., On the difference equation $x_{n+1}=\alpha+\frac{x_{n-2}}{x_{n}^{k}}$, Fasc. Math., 42(2009), 133-140.
[29] Zayed E.M.E., El-Moneam M.A., On the rational recursive sequence $x_{n+1}=a x_{n}-\frac{b x_{n}}{c x_{n}-d x_{n-k}}$, Comm. Appl. Nonlinear Analysis, 15(2008), 47-57.

Elsayed M. Elsayed<br>King AbdulAziz University<br>Faculty of Science<br>Mathematics Department<br>P. O. Box 80203, Jeddah 21589, Saudi Arabia<br>Permanent address:<br>Department of Mathematics<br>Faculty of Science<br>Mansoura University<br>Mansoura 35516, Egypt<br>e-mail: emelsayed@mans.edu.eg or emmelsayed@yahoo.com

Received on 25.10.2009 and, in revised form, on 20.04.2010.

